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The arithmetic mean of a given data is the sum
of all observations divided by the number of
observations. For example, a cricketer's scores
in five ODI matches are as follows: 12, 34, 45,
50, 24. To find his average score we e calculate
the arithmetic mean of data using the mean
formula:

ferdt faU 70 227 T UTSA WRIUTT & AT hi WETUTI R
wen ¥ fawmfaa & w yra grar € sawve & fau, e
UFfaada U=l 0 Us fhsher & @RI 12, 34, 45, 50, 24
€1 39T 3THa TR F@ & & o gW uvem gF @i
WETIaT ¥ TST & GHTAT "IST [T &id &




30Vt exa BY ADITYA RANJAN SIR

[Mean/me
_ Sum of all observations / #¥l UIUTE ST IR

Number of observations / U&IUTT &l H&IT
Mean/A1e9 = (12 + 34 + 45 + 50 + 24)/5
Mean/"1eg = 165/5 = 33

Mean is denoted by X (pronounced as x bar).
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MEAN OF GROUPED DATA

qiifopd 3PSl BT AT AT

If x., X, X,y cececenceccncens , X _are n values of a
variable X, then the arithmetic mean or simply
mean of these values is denoted by X and is
defined as:

n

— oy T Ka ¥ Ka T seecesssesons X 2

x_ 1 2 3 n —— i=1
o or X -
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ATHSE)I: or all govt. exz By ADITYA RANJAN SIR

1. The arithmetic mean of the following data is

_ 10434 +YS+SO+2Y :
Tl = 12, 34, 45, 50, 24

freafafaa gEnet &1 st /AagiEar g9
- 168 33 e —
g
12, 34, 45, 50, 24
(a) 30 (b) 36

(c) 33 (d) 25
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9 (Devmmme*hOd)
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+HY | +1S , +16

QVa.deviM__ o QV& D= Mo
£ R @
Q“§ :-.“2|3+| n§ - “200_“\'

N




©. 4332, 4328,({349) 4335, 434S
A

Do -8 -2 @) "/‘/ -}-/‘3/

OvgD - 2% 4 =
/2/

Qng .
ﬁ& = ('3<f0_q = qssﬁ e






MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

2. The arithmetic mean of the following data is

23, 17,20,19,21
q 2 ’ ’ ’ ’\
3, I'l,l ! ' FreafaiEa St &1 TS /A9iaT |5 B

Q(a. j/{;a/o A o 23, 17,20,19,21
\(,4/20 (b) 19

ang-20 (c) 23 (d) 21




ATHSE)I: or all govt. exz By ADITYA RANJAN SIR

3. If the mean of six observations S5, 7, 9, a, 11

\5"1' 1, “’& and 12 is 9 then the value of a is :
q afs 9E UGN 5, 7,9, a, 11 31T 12 &1 W= 9 &,
(IET‘QF{%:
Ml S44494a41412 = Q (a) 10 (b) 15
S (c) 22 (d) 25










MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

M-} 03496422 +11+13+X =204. If the mean of the data 28, 26, 22, 11, 13, x

—

& is 20, then find the value of 'x'.
S afa 28, 26, 22, 11, 13, x 37&HST & He 20 &, @
< e ] 'x' &1 U9 ATd SHiTAT |
3) - Jaf 20 (b) 30
(c) 25 (d) 28
02
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FOR DISCRETE FREQUENCY DISTRIBUTION

Li 0 If X takes values xX., X., X_ ccoocceee X with
(i) avg 40 20 3 1 Xy X .

) Dal 5 corresponding frequencies f, f, f, ......... , T

(‘f' bata 4 S PR respectively, then arithmetic mean of these

: values is given by:

Basic _ | |

- QV8'§n‘:)—m- T X & AT X, X5 Xyeeeeeonns X_T9T WA g

Wy Ky By osaricass , £ B, @ 3 WAl HET

= ey BT
({+S+6 e O
o %ﬁa 2 R +L3 AT Foevianinivion o
/LS’\’B =5 f+0, +8, +ooeeees -
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~t0 Q. +0
O. () Avg - 20 @9 4o
(4) Date» 10 71 3

ovab-) —100$0+3O :‘_;%
O
= -39S

Q'\S: 30-3.8
=268 A
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ATHSE)I: or all govt. exz By ADITYA RANJAN SIR

ouevaqe

M) _ YyS+(0X6+10xq+'XI0+8¥1S 5. Find thof the following distribution:
S+10+10+7 + 8 Frefafaa faaror = areg 7@ FHifau:
= %@’ e Avg «l-(x) 4 6 9 10 15
pData «+ (f) 5 10 10 7 8

/(?/ \/(,4’9 (b) 10

(c) 12 (d) 8



30Vt exa BY ADITYA RANJAN SIR

owevage
S. Find thof the following distribution:
Frefeafaa faaror & areg FJ| Shifau:
-5 -3 ®, ~+ | +6
Avg «l-x) | 4 6 ©) 10 15
Daia «+ (f) 5 10 10 7 8
&l 9 (b) 10
(c) 12 (d) 8
Dietea «. i
il L LT

90 %f\s =k
W - q

Cme—
—
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BY ADITYA RANJAN SIR

The following table shows the number of
commercial clerks at 100 stations in a electric
department:

frefafes aifee o e fagm fawm & 100 2ymi

& HUTYTTA FoTahl i HEAT o8 T3 &:
Number of
Commercial | (x) 3 1 2 0 B 5
Clerks
Number of
atio - (f) 2| 24 |11 | 9 |29 |15

Find the mean from the above.
Iqgad | WIS FTd i
(a) 2.50 \(b)}2.73

(c) 2.33 (d) 2.58
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yovt. exz By ADITYA RANJAN SIR

Find the mean of the following distribution:
Frafeafeaa faavor & areg 3 SKifau:
x) | S |6 |-~7 8 |~9
CHATNNAY WEAN W EEWLY
(a) 8.325 (b) 9.125
ey7.025 (d) 5.225
Qn§ : S
O+y
. 8‘\' 98*88.‘_ Qh,
. S0
- 88
Q0



OMPLETE | .Y ¥ & COURSE (For all govt. ex: sy ADITYA RANJAN SIR

m- If the mean of the following distribution is 6,
__...--:"" i 4 QX9 +2XY +3X6 leO-{-z(_P-{»S - 6 find the value of p.
mela T afe fafafea faaor @ aeg 6 €, &1 p &1 6N
VNN

2 618+I8H0+2p+i0 - 66 AT =ity

- Oe—t()| 2 | 4 | 6 | 10 [ p+5

'7)) S242p:= 66 T $

e \/\W
/2? b N (b) 8

() 9 (d) 10



BY ADITYA RANJAN SIR

If the mean of the following data is 15, then
find the value of k.

afe Frafafaa 227 & orsx 15 &, @ k &1 O A7

CalE Ly
(x) ,»5 |10
N N6 Kk

(o AV 3 1o :

Mo. (46 th (5 }@
(a) 7 \“}Va
- (d) 10

- '@+l0|(+90+200+\25

3 , M4k -

S 410 S
- = MOS 49
4) 8(}6: TS



: ATHSE): or all govt. exz By ADITYA RANJAN SIR

@309\'(') 10. Find the mean of the following frequency
avg -» 5 (8 25 3S (s distribution:

Do M jo IS 8 10 {ywfeiEa ngiw faavor a1 area Ja shifa:
= 15 25 25 YsS

in(t::-:u 0-10 10-20 20-30 30-40 40-50
Qg = "XS+10XIS W SX2ZS +8X 35+ 10X US| FT=rre
T+10 41 8410 workers 7 10 15 8 "
(f):
(a) 25.8 (b) 24.8

(c) 25.9 (d) 24.9



: ATHSE: or all go

BY ADITYA RANJAN SIR

(@,
av§ +10 49010. Find the mean of the following frequency

-20 -0
avg 9 5 IS 3S (ys distribution:
Do M jo IS 8 10 {ywfeiEa ngiw faavor a1 area Ja shifa:
= 1S 25 36 Ys
.DON(() = =140 —100 +0 +80+200 qva inf:‘::k 0-10 | 10-20 | 20-30 | 30-40 | 40-50
SO No. of
Doda | workers 7 10 15 5 10
= ﬁl = 0.8 i
v (a) 25.8 (b) 24.8
(c) 25.9 (d) 24.9

QM& - §S‘1‘08: 258

—



11. Arithmetic Mean (AM) of the following data is-

frefafaa ser & 9uiaT (AM) | §-

Class- 8 12 < 20
6-10 10-14 14-18 18-22
interval

2236

Frequency S 12 7 S 1
(a) 10 (b) 12
sy 14 L (@18
-8
M5 8 TGN M 49
Dada 5 & (& 2: _Y
!
0418? :\'04{8.‘_0_’_,2'0 +9
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yovt. exz By ADITYA RANJAN SIR

12. The mean of the following distribution is 26,

then what is the value of k?
afe FAfafaa s = e 26%‘ ar k T 91 94T &2

S 1S 29 4s
Class 0-10 10-20 20 30 30-40 40-50
{ Frequency 8 10 K 6 12
(a) 8 (b) 1
(sy2 (d) 10

M s 15 25 38 ys
‘DQ‘q 8 10 " S

12
AV = 10+ 1S0+ 281+ QU0 +SYO _ 6
- qqo-‘Q 36‘\'|Q
Dy e



BY ADITYA RANJAN SIR

12. The mean of the following distribution is@
then what is the value of k?
gfe fefaiad s & a1 26 &, a7 k o 91 &1 87
S 1= 25 S 4s
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50
{ Frequency 8 10 K 6 12
(a) 8 (b) 1
Devidlion,  \Is¥% (d) 10
-2) -\ - | +9q +1
Qv 9
d S s 28 3 ys
»Dqu 8 |10 " S | 5




13.

BY ADITYA RANJAN SIR

Find the arithmetic mean of the following
frequency distribution by the assumed mean

method:

shfega wrex fatyr g Aefeiea aarar s29 &0

| WA F\ FIEAC ) g0

+20 +80 <4100
QV&_ Wages (in Rs.): | 800 | 820 | 860 @00) 920 | 980 | 1000
No. | No.of Workers: | .7 | 14 | 19 | 25 | 20 | 10 5
\WRS. 891.2 (b) Rs. 890.2
(c) Rs. 895.6 (d) Rs. 898.6
Do - -
vg= =~ 100.-1194 -
a 20 “(60-\-0-'-&{00_(_800* 506
- (00
) hw - -8 8
Wt I




ATHSE): or all govt. exz By ADITYA RANJAN SIR

14. Find the arithmetic mean of the following
frequency distribution by the assumed mean
-200 -100 O +l00 +200 B T

200 Y00 S0O
°V8 100 wfeaa wren fafy g fafaas swamar a9 & 0

IS 12 :

bia 16 10 22 THIAT WIET FIA T
(00 200 300 Y400 S00
Davg = ~3200-1000+1S0042400 = Yy | ,Sass 50.150 |150-250 |250-350 |350-450 | 450-550
(?- N e : ‘m)g Frequency | 16 | 10 | 22 | 15 | 12

(a) 290 \(9/)./96
O = 300-y =99 (c) 285 (d) 250



The value of the middlemost observation,

obtained after arranging the data in ascending
or descending order, is called the median of the

data.

22T ol WET A § SHaftdd A & a9 Weaau Weyo
o ATTIeRT THgd &

For example, consider the data: 4, 4, 6, 3, 2.
Let's arrange this data in ascending order: 2, 3,

4,4, 6. There are 5 observations. Thus, median
= middle value i.e. 4.

3418707 & fow wreT 4, 4, 6, 3, 2 WIS 22T ¢ 3H WaH
Uzl ANIEl %° 2, 3,4, 4, 6 U Hatdd &id &1 &t 5
weror €1 39 forw wrfemenr = wemgam we s1giq 4 )
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O. 12, 16,(0,6
Median:"

A0

O = (0412 — @







STEP1:

STEP II :

ATHS

Arrange the observations x , x,,

............... x_in ascending or descending
order of magnitude.
et XK.y Bogeesssvsescsssss X &1 gfgmor &

TIET T 3(aEl %9 o sgaftgd &1
Determine the total number of

observations, say, n

UHUT W e W it &, W #itan, o

STEP III :

BY ADITYA RANJAN SIR

If n is odd, then median is the value of

n+1)"
( 5 ) observation.

n+1)m

afs n fawg , a1 uarfeasT ( 2
AR H T 2

If n is even, then median is the AM of

th th
he vatues of (3] ana (3+1)
the values o 2 an 2

observations.

th
ufanmi,aimfem() T

N | B

th
n - e .- - . N
(EH) USUT & WA &1 AM 7




govt. ex: BY ADITYA RANJAN SIR

15. The following are the marks of 9 students in
a class. Find the median.

Ush el § 9 Bl & 3% faAfafaa &) wifeaenr 7@

At
34734, 48, 38) 24, 30, 27, 38
(a) 24 ~_br 32

(c) 38 (d) 21

A A O it

Qng - 3o




16.

govt. ex: BY ADITYA RANJAN SIR

Find the median of the daily wages of ten
workers from the following data:

Frafafaa snwst ¥ a9 afuel & 3f e 99gd &
e AT ShiTAu:
Rs.20/25) 17(18)8) (522) (WD
316 (b) 18

(c) 20 (d) 22

A M, 83154




DVE. ex: BY ADITYA RANJAN SIR

The median of the following data will be

32, 25,33,27, 35, 29 and 30

32, 25,33,27, 35, 29 3T 30

(a) 32 (b) 27

\Jyr 30 (d) 29
B A Dt

Q""&: 30



or all govt. exz BY ADITYA RANJAN SIR

18. The median of a set of observations 15, 16, 18,
22, x + 2 , x + 2 26, 27, 30 arranged in
ascending order i then find the value of x.
HAET 9 =Jafigd Ugui & Us 9@ 15, 16, 18,
22, x+2 ,x+ 3,26, 27, 30 =t "t 24 %,
A x & WA ATE HIfAU

(a) 26 (b) 25
(c) 20 22

I a2y 35,357 30
')(-I-Q:'zq




Jovt. exz | Y ADITYA RANJAN SIR

19. The median of observations k-a, k + 2,

1 1
k-l,k+4,k+2,k-3,k+42us .

i 3 1
WETUTT, k—a,k+2,k—1,k+4,k+ E’k'3’

1 ,
k + 45 ahl WISt ATA hilAU|
NTPC 01/04/2021 (Shift-03)

) k+

(c) k-1 (d) k + 2

NW

(a) k-






sovt. exa BY ADITYA RANJAN SIR

19. The median of observations k-;, k + 2,

1 1
k-1, k+4, k+ -, k-3, k+4_ is

2 2
-1-S =0-C
amﬁ.r + 2’ Ty + 49 @ - 2’
o

NTPC 01/04/2021 (Shift-03)

3 1
@ -3 /"
1 2

(d) +



or all g¢ PX3 BY ADITYA RANJAN SIR

20. What is the difference between mean and
medain of the given data.

fau no arfeRel & _Wrew i urfemest ®§ @ ofaw T

5 ,-,/,;,//}/ 16,6, 813"

(a) 4 (b) 2

1T (d) 1.5
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: MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

21. The median of a set of 11 distinct observations
is 73.2. If each of the largest five observations

/ of the set is increased by 3, then the median
_____ O_ e sy e of the new set:
4\,{-»4-.,,, 11 fafa= uaon & ues wg==g &t wrfegar 73.2 2

afe Oq=d & Wad 9% e UHUT § W Uee W 3
&t gfg &t Tt &, 9 3@ AC AT Hl W@

SSC CGL TIER- II 07/03/2023

(a) Is 3 times that of the original set
el W w3 AT

(b) Is increased by 3/3 &I afg &2 &
\(cy‘emains the same as that of the original set
(d) Is decreased by 3/3 | 92T &



22.

BY ADITYA RANJAN SIR

The median of a set of 7 distinct observation
is 21.5. If each of the largest 3 observations
of the set is increased by 4, then the median
of the new sets-

7 Ta=1 neoTi & Uw AYsId @ wiiemeRt 21.5 ¥ af
Oqead & Had 9% 3 UYUH § ° U H 4 i gfg
T &1 A0, 91 0 W9sad i WAt -
(a) Will decrease by 4/4 &u &Il
(b) Will be four times the original median
T &l =T AT B
(c) Will remain the same as that of the original
set/ Uo1 A9=d & WU & &l

(d) Will increase by 4/4 @@t



E I

MEDIAN OF DISCRETE FREQUENCY |

DISTRIBUTION
3dq IRARAT a1 DI AT DT

-




STEP1:

STEP II :

STEP III:

STEP IV:

BY ADITYA RANJAN SIR

Find the cumulative frequencies (c.f.)

N n
Find s where N =) f,
i-1

N -, 2 S
~ ara t, wef N= ) f,
=3

See the cumulative frequency (c.f.) just

N
greater than 2 and determine the

corresponding value of the variable.

gﬁmmwmm(ﬁtqm.)é@

T = W wa ue fraifa &1
The value obtained in step III is the
median.

=0T III ©§ Wi O &1 ArieaeT 2



BY ADITYA RANJAN SIR

23. Obtain the median for the following frequency

distribution:

Frefefea srgfe famror & foo orftaes wra &1

x[1][2 [3 9
f (81011 6
(a) 3 \9)/5
(c) 7 (d) 10

= 120 =60

5%




govt. ex: BY ADITYA RANJAN SIR

24. Find the medain of the following data.
frafafaa aest &t wiftaast J@ wifau)

Term (x) S| 7|9 (11|13 | 16
Frequency 3| 2| 4| 6 3|5
(a) 15 (b) 12

(c) 10.5 \(/d)/f 1






MEDIAN OF A GROUPED OR I

CONTINUOUS FREQUENCY

DISTRIBUTION
Hdq IRARAT a1 D TSI

M




STEP I1:

STEP 11 :

STEP III :

STEP IV :

ATHSE: o1 all g¢ :

Obtain the frequency distribution.
Prepare the cumulative frequency
column and obtain N = ) f.

Hedt Agie WY TaT & T N= Y f e
ol

N =
Find 5 ATE R

See the cumulative frequency just

N
greater than 2 and determine the

corresponding class. This class is
known as the median class.

D5 | s TN
anmﬁwmmﬁmmm
T fruifa &%) 39 @ = wifeger @ =

9 H AET ATET )

BY ADITYA RANJAN SIR

STEP V : Use the following formula:

-F

Median = l+‘T>Xh

! ,
2

1+12 __lyn

:
:

where, [ = lower limit of the median class
wEl, 1 = wifeaest an @t freet d@m

f = frequency of the median class

f = wrfeaasr & &t amgfa

h = (size) of the median class



Lt CL; 'L')X(g -c)




YUR
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5 a2

S <y,
24415
Qéﬁn
-
Wk
s

25. Calculate the median from the following

C\

BY ADITYA RANJAN SIR

distribution:

frefafaa faaror 9 arfeassr &t Torr &1

/Clau 5-10/10-15/15-20/20-25 25-30 30-35/35-40/40-45
'F’requency S 6 15 10 S 4 2 2
(a) 17.4 (b) 18.4
(c) 14.2 (¢ 19.5
= 1S+ &x(245) L'taﬂ‘)x(*”“c
i )%3( S~ T 5
¥l X13. q
J
382(‘3,\5
SQ.
\i .




BY ADITYA RANJAN SIR

Find the median of the following data.
fr=fafaa sTeel &t ArfeaasT A wifao)

Class |(10-15(/15-20|25-30/30-35/35-40
Frequency| 7 9 11 8 18

(c) 35

Mo = G+ (-4

3 7 (%()




(a) 38

(c) 35
N-U -S3S
2 2

BY ADITYA RANJAN SIR

27. Find the median of the following data.
Tafataa st & urfeaa A &ifau)

Frequency (F)| C f J

Class (CI])
0-10 8
10-20 3
20-30 7
30-40 4
U 40.502 T10
50-60 | 1
60-70 3
70-80 5
8090 | 2
90-100 4

8
L

13
22 C




The mode\ or modal value of a distribution is
that value of the variable for which the

frequency is maximum.
ag a= o fau 7w g # waw arfue an famE qar @
It Ieuad ATgTT At 2T dgetah el &

(22 3(Muuyy




govt. ex: BY ADITYA RANJAN SIR

28. Find the mode of the following data:
frefafaa 221 1 agas J
25, 16, 19, 48, 19, 20 34, 15, 19, 20; 21, 24,
19716, 227 16, 18, 20, 16,19
(a) 16 YadiR \9)/19 S dlly
(c) 20 8 aR (d) 22 1@



sovt. exa BY ADITYA RANJAN SIR

29. What will be the mode of the following data?
frafafaa s =1 agee == grm?
13, 15, 31, 12,(27) 13,(27)30)27)28 and 16

(a) 28 141} (b) 31 14w
(¢c) 30 1aR W27 B4R



30. What is the mode of the given data?
fa g 2 e
(6)7,9,7,3)7,5)7,8,6, 7
\(y/’é\‘) aiiy (b) 6 JaF

(¢) 5524 d) 3 Lo




31.

BY ADITYA RANJAN SIR

Find the mode and median of 8, 7, 3, 7, 9, 4,
59,7,6,85.

Ald
(a) 9,8 \?/7 7
(c) 8,6 d) 7,8



sovt. exa BY ADITYA RANJAN SIR

32. Find the sum of the mean, median and mode
of the given data.

fau 7w B=r @ urem, wiftaer 3N AgeE @ T




LY e
Mcan : Mode = 3Median-2 Mean

3 = 3X3-avay
q g

‘ylediaf):'B ) LLje'

1- 4

y S




: or all govt. exz BY ADITYA RANJAN SIR

Relation between mean, median and mode:

qred, WIfeAant i ageieh o afd gad:

Mode/dlg™ich
= 3(Median/'qTﬁIl'éF|‘) — 2(Mean/HIE4)

Qmodh - 3Median - &m@




By ADITYA RANJAN SIR

(Mean =60 33. Mean of a sample data = 60 and median = 48.
medmn; 48 Find the mode of this distribution.
mode = 7 Ush AT 3RS @1 WEA = 60 31T mifeaest = 48 £

3H @A HT Ageteh ATd hi(T|

(a) 36

e 24

(Y'odh = 3m9di0ﬂ- Q Mean

SSC CGL TIER- II 06/03/2023

(b) 18
(d) 48




sovt. exa BY ADITYA RANJAN SIR

34. Find the mode if mean and median are 4 and
S respectively.

afe wrem ofm wiftmesr wwer: 4 3R 5 ¥ @ agee

AT ShiT=U|
NTPC 05/02/2021 (Shift-01)
(a) 9 5) 7
(c) 11 (d) 5
Mean -y
Medion - S



COMPUTATION OF MODE FOR A I

CONTINUOUS FREQUENCY
DISTRIBUTION

- gdq IRARGI §¢9 T gD

L




L@L- 23,444,494, 55, 66,6

O2. % c
Q 2.
- @ )
S 5
1o} 1
Q"qlge
! /8,8'8%8
\ 141// 6‘6’6I 16 IQ

Class Puauaacy
Q3.  10-20 = <>0°'
o
L 30 +4
N
30- 4o > /T
40 - SO 4




STEP1:

STEPII :

ATHS

Obtain the continuous frequency
distribution.

Haa mgfa faaror wra &1
Determine the class of maximum
frequency either by inspection or by

grouping method. This class is called
the modal class.

&1 an fruifta &9 39 = &1 9r2e a9 *er
AT

STEP III :

STEP IV :

BY ADITYA RANJAN SIR

Obtain the values of the following from
the frequency distribution:

wrgta famror 7 fafafaa & o= ua #=91:
[ = lower limit of the modal class,

f = frequency of the modal class

qrEd i & Aghe

h = width of the modal class,

urEe A W wrsrE,

f, = frequency of the class preceding the
modal class,

urEd F H g aret a9 @ gy

f, = frequency of the class following the
modal class.

qrEd @ & A At ai @l gl
Substitute the values obtained in step
III in the following formula:

=0T I ¥ wrE url o freafeafes g3 o
LEC B

f~f

h
T

Mode/ FEE®F =



MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

35. Given below is the data of the age of the

Age (years) Number of various children.

) Chil(iren . et fafu= s=at &t 21y @ 221 faar mr 2
> What is the difference between the mean and
L2 6 mode of the ages?
5 @ AT & W 3T "geteh W o4 3T 87
8 7 \MG (b) 2.5
v 4 (c) 3.5 (d) 3.6
6 3 |
mqu 5 q+7 “\0&0 - S
- m@d’?gﬂg a
* & 30 e §=T6-¢
K 9 2
3o 6
1.6




Y¥s N COURSE (For all govt. exams ) BY ADITYA RANJAN SIR

£=23 Qf'z 36. For the following grouped frequency
=10 E3 distribution, find the mode:
4 =2 ﬁﬂfﬁf@ﬁu@qmaﬁfﬁzam%m,mm
CAIE I h
ang- L4 (f‘j' <h . ~.
241, Class: | 3-6 | 6-9 | 9-12 /12715 | 15-18 | 18-21 | 21-24
Frequency: @2 5§ | 10 | 21 12 3
= 1 +(‘3 o\ (a) 136 I ) 15.6 ™
%-lo-z|> (c) 15.4 (d) 14.6
= X 13 XY
= ES
e
N W‘G



BY ADITYA RANJAN SIR

37. Find the mode for the given distribution

(rounded off to two decimal places).

faw 7w @wEw @ WEew FE WtAw (T IITHEE

T deh QT fahd )| 9 Jh
~ Class @"%
5-1010-15|15-20 |20 - 25 30 - 35
Interval

‘Frequency | 8 7 6 | O (e[ @Oy
==

SSC CGL TIER - 11 02/03/2023

(a) 35.25 (b) 40.25

(c) 30.33 \(d/){8.33




ATHSKI: pr all gc

BY ADITYA RANJAN SIR

. 38. The mode for the above grouped frequency
Modu = Q+( f-4 ) Xh distribution is-
2f = 1i=5 IUTE afighal ATCETAl &2 & [l ageisd 8-
- 20+ 10 )X 10 Category Frequency
Yo-10-S 0-10 6
- o0 2 10-20 10 31
- L X0 L [ @ 22
& SE | 30-40 “h é?-‘ff
= 2
ﬁ_ﬂ 40-50 2
(a) 2 (b) 26
\(9/22 (d) 29




30vt. exz By ADITYA RANJAN SIR

39. Given below is the distribution of Y 8students
present in the class on the basis of their

attendance (days): Find mody .
det e W Sufea YQ faenfdan = faavor swat

mﬁ(ﬁ?)%mwﬁmw%: , SETD=:

Number of days of Attendance

6-10|10-14

@i{ 18-22

22-26

Number of Students

|9

2

(a) 15.29
(c) 15.60

\:?/{'5'.33
) 16.50

="
&




: Roogz_z v
Yoariance

-~ Standant Deviation "

| m ‘S( Ma Mous



Difference between highest and lowest
numbers, is called Range.

Sooad 3T Fream dEret & s & 31aT @l U

wEd ¢

How to find the Range:

UTH i AT

(i) Put the numbers in ascending order.
AT Sl WaW URel TRl e H sqaiedd il

(ii) Subtract the lowest value from the largest.
Ty @2 ¥ WaR 912 UA F T
Range = largest value - smallest value



or all govt. exz | BYADITYA RANJAN SIR

40. What is the range of the following data?
frefafaa o srer & giaw = 27

Data/=rT: 35, 40,(25) 27, 38, 45, so.

(a) 44 (b) 45
(c) 38 \(4)40
'Kﬂﬂa( =

- 68-23

-
R

Q0



or all govt. exz BY ADITYA RANJAN SIR

Find the range of 12, 22,7, 1, 5, 27, 30, 43.

12, 22, 7, 5, 27, 30, @aﬁhmﬁﬁm
(a) 28 (b) 48

(c) 35 _ ()42
Qang& s -8

= q3_|

-



42. Calculate the range for the given frequency

BY ADITYA RANJAN SIR

distribution.

IuTrad TeT &1 uE (I9) & 87
Class Interval | Frequency

L 10)20 2

20-30 3

30-40 14
40-50 8
S0-60 3
60-70 8
70-80) H 2

b1 70

(a) SO
(c) 60

(d) 55




VARIANCE YdRU[/

Variance is a measure of variability in statistics. It
assesses the average squared difference between data
values and the mean.

yaruT - fa=rar wifeent o uftad=yiierar &1 uek o1y 21 98 227
T 3T Wrew & ater 3iEd vl 3{av @l Tehe Hidr

It is denoted by (c?f/'s'ﬁ (0?‘ giea ferar sran zl
variance /f@=vor

2:]-1 (xi - ;)2

-




0. &,5,6,% 10 - find yariomce =?

_EQS Slep {1 - )—< = a4 S+66+7+IO — @

‘SiePQZ- (Xi")?): =W, =1 ;0 . Y

- A
Step 3= (xi-%)'= 16, 1,0 4

(16

Step 4. Sy 512
. .i‘()(,-x) - |6+'+9+|+l6
<
Ny )
N



By ADITYA RANJAN SIR

How to compute variance and standard deviation?

Step 1 - Compute the simple mean x.

STUT 1- WISTTUT WS X wRi WUTAT wH

Step 2 - Calculate the difference of x -~ i, for each
value in the data set.

TR0 2- B2 W HUEE WA & 0 x - ¢ 9T wl Mo
Step 3 - Calculate the squared difference (x, - x),
for each value in the data set.

RO 3 - 2T T HURRR WA & oW A 3R (x - i ), W0 @A
Step 4 - Sum of Differences of the the squares > " (x-x F.
WIUT 4 - A0 & A o A Y0 (x - i )

Step 5 - Divide the sum of squared differences with n,

n —\2

variance (o?)= Z‘"(,: -x)

=TUT 5 - =N AT & A @ oA faarfEa w5

= :vci-:v:'2
fasmor  (g2) = Z*-"-n |



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

43. Calculate the variance from the following data.

=21 ¥ fa=wor &t ToET #:i
3,6,5,2,4

NTPC 02/03/2021 (Shift-03)

(a) 3 2
(c) 2.2 \/:3/2.5
X : %“{ :

Oy,

- 0% ey (0%4(-2)%4 (o2
S

= |4



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

44. Calculate the variance for the following data:
fr=fafaa 821 & faw fa=wor &t T &1

2.5,6,8,9
NTPC 19/03/2021 (Shift-03)
(a) 3 (b) 4
Jey6 (d) 5
X: 3¢ 6
5%
Oy - (:4) -1+ (0) Q)24 (3
> |6H.\.0+ 3
ﬂ



'COMPLETE |\,/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

45. The variance of the seven observations 6, 7,
10, 12, 13, 8, 14 is:
| Werun 6, 7, 10, 12, 13, 8, 14 &I WHIUT &:

NTPC 19/03/2021 (Shift-01)

(a) 9 (b) 9.25
(c) 8.50 Y 8.29
if;&f 10




4,8, 2

X= W8+12 = 8




Note
O WNumbers 3‘} 23 addf Subtrat ——> No Changz In )/a'riauoe

) O\Iumbcr> J%' ! m(dhpf'-[——? ‘\/anancc)( (7()

Lf y 4
. /_\
GX.’ 2,3,‘{,)( 8
112, lG, \{)(
G\Q: |0
S

:|0X\{9'
-
lsg



or all govt. exz BY ADITYA RANJAN SIR

46. The variance of 20 observations is 5. If each
observation is multiplied by 2, then the
variance of the resulting observation will be:

20 WHIUTI T WEIUT 5 ¥ AfT werws wequr &t 2 |
mon femar wme, ar oftomdt waror @ wETOT EEm:

NTPC 10/02/2021 (Shift-03

(a) 5 (b) 2 x 5

. _Isr22 x5 (d) 2 x 52
Va'S

New Vaviane = 5 XQQ



Yaviance = s? If -2 is the variance, then o, is called the

§ D=\ Variance standard deviation./dfq o* fa=@or &, 91 ¢ wFe
“Ne2 oo weemar €

Standard Deviation (o) = \/variance

A fa=ed (o) = 30T =

\/th(e - G2



W) IR AMATHS

sovt. exa BY ADITYA RANJAN SIR

47. If the variance of S value is 0.81, then what is
its standard deviation?

Ifg 5 |HE o1 WEIOT 0,81 &, A 39 Uk fawer o= 87

SSC MTS 26/10/2021 (Shift-01)

(a) 0.09 (b)0.9
(c) 2.7 (d) 0.27
S- = 0.8



MATHSEI): r all g pXd BY ADITYA RANJAN SIR

vaviance 48. Calculate the standad deviation for the
_ following data.
¥= 5 frefafaa 221 & fow ame fasem @t T &1

Yariouee = (-2) 204 0% P2 A, Y
5 NTPC 14/03/2021 (Shift-01)

e a (a) V6 (b) V3
S ler2 (d) 2
S'.Dz \Ia-




49. Find the standared deviation of the following
data (rounded off to two decimal places).

frefafea snewst &1 wme fawem 3@ @ifaw

v -1 7 (Y IYHAE T TR YUTTeRd )|
L 5,3,4,7
2 _ (5-1aV (3:19)% f4-1912 [1-10)
< '(59)%39"'“3)*(1"&9)@/1.48 (b) 3.21
y (c) 4.12 (d) 2.45
L +
Jo' et 8L
.
- 40 35 _
IGW *3\\%)
5p-
W s,
6 ~TXIs



MATHSEI): pr all g¢ pXd BY ADITYA RANJAN SIR

Yatioue 50. Calculate the standard deviation for the
= .32, 9 following data.
X’}/ fFrafafEa 221 & fou ame faues &t oA &30
. 3 T,9,10,15
&%= (-9)4(-2)+(0) +(1)*+ (6) NTPC 12/03/2021 (Shift-01)
_ S (a) 2.733 (b) 3.133
B 3.533 d) 3.633
<5 @ 2



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

51. The standard deviation of 12 values is 3. If
SD =3 each value is increased by 4, then find the
\oriomee = 3’=q variance of the new set of values.

12 Wl ohT HTHeh fa=re™ 3 81 afe usies 919 ° 4 ot

gig & St &, 9 WHEl @ U0 WS W WEIUT A
EAlE Ly

<) Nw Yariomce = 9

NTPC 29/01/2021 (Shift-01)

(a) 7

(c) 25 N L



o) 1S AMATH SE11): or all govt. ex: By ADITYA RANJAN SIR

What is Mean Deviation? /9= Taee™ @@ 87

The mean deviation of a given standard
distribution is the average of the deviation
from the centreal tendency. Central Tendency
can be computed using the Arithmetic Mean,
Median, or Mode of the data. It is used to show
how far the observations are situated from the
central point of the data (the central point can
be either mean, median or mode).

fardt fau 7o umes faaor @ sfma fasem &9
vafe | fauem &1 oima ) &g wafe &t o
22T & FHNMUTAE Wi, WifegeRT A1 Wig S UM
wTeh @l o1 Tehdl g1 39T Suam 9% fe@m & fou
foran wirer € T sracies 221 & g fag o faast
77 from & (@dra fag ar ar wrea, wifgest o O &
Rt )



oqon

. MeaGn
o Mediom . Deviatien, Coefficient
Mods
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Mean Deviation about Mean

urey & Wy uren fawe

The mean deviation about mean is defined as
a statistical measure that is used to calculate
the average deviation from the mean value of
the given data set.

mwau"ﬂmallmﬂldﬂ 7 ! Ueh HifeAahid AT &

u uftarfua farar war € fawenr suam fau o
éaﬁza%umﬁaﬁmﬁaﬁwaﬁmaﬂﬁé
foo ferar mar 2

Y1 |X, - Mean

n

Ungrouped data M.D. =

M.D.

Coefficient of M. D. = ; where y is Mean



BY ADITYA RANJAN SIR

The mean deviation of the data values can be
easily calculated using the below procedure.
Hrer df e ufeRar T IUAT I ST °IAl @ 3ATEd
fa=re &t ot STETR W @ T gt £

Step 1: Find the mean value for the given data
values

=uT 1: fau U 22T Ul @ W Wi #@ve Wi

Step 2: Now, subtract the mean value from
each of the data values given (Note: Ignore the
minus symbol)

=0T 2: 3@, Tau Uy 22T WA | Wisg uie "2
(Az: o g w s 7 2)

Step 3: Now, find the mean of those values
obtained in step 2.

SAUT 3: 37&, =007 2 W Ure 39 OrAl @Rl 9red ATd
it




or all govt. exz | BYADITYA RANJAN SIR

52. Determine the mean deviation about their
mean for the data values S5, 3, 7, 8, 4, 9.

ST U9 5, 3, 7,8, 4,9 & Tolw 39ah wred =&
araer wrex fawem fuaifa &7

(@) 1 B2

(c) 2 (d) 2.5

e

Mean= X = S5+43+7484u4q - &

\=

Mean Doyiat: °
Deviatgy, - 1) +1-3] 4 |+ 2412)43
= 4+3+l+2+9\+§ ‘
=k o8



or all govt. exz BY ADITYA RANJAN SIR

53. Find the mean deviation of the given data
about their mean.

e & WY fau U 22T v uren fawem A witeu)
{4’ 6’ 7’ 3’ 5’ 5}

g (b) 3
(c) 3 (d) 4

= U+64143
S

Mean
Qeviatiyy 114242 4040

:_,g:G
A




Mean

>( - |+2+3+L| ‘|‘S
S

=@

X= 3

Mm-D- 2+1404 142

2
~ &

\

<




ATHSKI r all g pXa BY ADITYA RANJAN SIR

54. Find the coefficient of mean deviation from
the following data:

Frefafaa 221 9 uren fawem & s A Fifau;

29" 6.5,1
\(})o/q (b) 0.5
(¢) 0-3 (d) 0-6

X = 34847464541
:® S : m.I>?‘&-'-3-\'?"*""0"|'“‘| | COQJaficient' S
- - S -0l =
=2 . .
6 = S | S




¥a

: or all govt. exz | BYADITYA RANJAN SIR

55. What is the mean deviation of first 10 even
natural numbers?

UIH 10 W WTehfder Q&AM &1 "rex fawem o=w 27

(3Y'5 (b) 5.5

(c) 10 (d) 10.5

é,u,e,e,«o,m,m,.e 8 20

&-rzo
(:) M.y —
T TS 43414 143494 i

‘éé .
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Mean Deviation about Median

HiieeRT & | "re faees

The mean deviation about median is defined
as a statistical measure that is used to
calculate the average deviation from the
median value of the given data set.

urfeent & AUy wred fauew & e AifeaesEa |1y
& ®q ¥ uftarfua ferar war £ fSwesr swam fav o
22T U & uriedent ¥ 3 a fases &t o &1 &
foo farar mar 7

Y1 |X; - Median|

n

Ungrouped data M.D. =

M.D.
Coefficient of M.D. = M ;: Where M is Median



govt. ex: BY ADITYA RANJAN SIR

The mean deviation of the data values can be

easily calculated using the below procedure.

Hrer 2 M ufERar &7 IUANT eeh 22T Ul & iad
faere™ &0 T STETT | SRt T Hehdl £

Step 1: Find the Median for the given data
values

=0T 1: fau ww 227 et @ wiftaet Fm o
Step 2: Now, subtract the median from each

of the data values given (Note: Ignore the
minus symbol)

=T 2: |, faU U yees 22T UM 9 wiftaest weTe
(rz: wor fag w aam 7 F)

Step 3: Now, find the mean of those values
obtained in step 2.

TAUT 3: 37|, ©F0T 2 H WA 39 WAl ki °ET AW

CalE



DUF or all govt. exz BY ADITYA RANJAN SIR

56. Find the mean deviation about the median for
the following data:

FfeafEa 221 & fou arftaesr & @y ° are faees

AT ~
4, 6,9, 3, 10, 13, 2.
(2)" 3. (b) 2.38

(c) 4.28 (d) 3.38

Median /a/'/‘»/’/@ﬂ/ o

Meaq Devy,

Uamy = §+0+3+3+‘H7+H
< 93 N B N
Ysa0g




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

S57. The mean deviation about median for the
given data:

fau o g2r & fow wrftaenr & AUy § 3iEq fauem:
S92, 56, 66, 70, 75, 80, 82 is:

SSC CGL Tier-II (JSO) 14/09/2019

Ll (b) 7
2 () 6
mediQT): "O /
ean Deyints
M \:onan:le+lq+q..o+s+to+lz
"RV

A
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58. Compute Coefficient of M.D. from median for

Median —, 1y
M ean Deviatigy

following series.

frafafaa geer & fao wiftgar ¥ M.D. & Tons
@t TOTAT il

3,7, 12, 14, 15, 18, 22

(a) 0.226 Wsse
(c) 0.356 d) 0.426
Co i - .
= _I\+'1+').+o+|-fq+8  gicient = ";)Edm
-5 ! -2
] | |\1 =33

98
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Mean Deviation about Mode

Sgoich o Gy "red faere

The mean deviation about mode is defined as
a statistical measure that is used to calculate
the average deviation from the mode value of
the given data set.

ageeh @& WUy ured fawe @ Us Qifeaed 9
& ®u ° uitarfaa feran war € fawasr soam fag wo
22T W2 & dAgora ° 3Ha fawem @t e w5 &
foru feram wmaT €

Y1 |X; — Mode|
n

Ungrouped data M.D. =

M.D

Coefficient of M.D. = T— ; where Z is Mode.



BY ADITYA RANJAN SIR

The mean deviation of the data values can be
easily calculated using the below procedure.

Hrer 91 WE ufsear T IuEm e 22T Ul & aitda
faaem & TOET AT W FH AT Thdr 21

Step 1: Find the mode for the given data
values

=7ur 1: fau wo 22T Ut @ agees J| W

Step 2: Now, subtract the mode from each of
the data values given (Note: Ignore the minus

symbol)

=0T 2: 3|, fau Uy 22T UM 9 ages 92
(Fre: wmu g w a3 9)

Step 3: Now, find the mean of those values
obtained in step 2.

STUT 3: 37, 0T 2 O W 39 WAl Rl Wred Ard

EE LY



or all govt. exz BY ADITYA RANJAN SIR

59. The mean deviation about mode for the given
data:

fau T 2T & fou ages & Wy ® 3iwa fawem:

|212.36 (b) 2.56

(c) 2.16 (d) 3.56
Mody = 9
P §+S‘H"“"*G+3+2+o~r2
Sy

9{5"@'3



r all g PX3 BY ADITYA RANJAN SIR

59. The mean deviation about mode for the given
data:

fau @ 221 &% o ages & Wy ® aiwa fasem:

/ 4, 10, /9/ 15, 12,7,9,7 is:

(a) 2.36 _(pY 2.56
(c) 2.16 (d) 3.56
107,310, 12,15

Mod - -

: g
qu"&-s




r all g PX3 BY ADITYA RANJAN SIR

60. The mean deviation about mode for the given
data:

fau 7o 2o & fou ages & Wy W uren fawem:

/3’4 4//2/4/Zis

.142 (b) 1.243
(c) 1.213 (d) 1.321
J’Q'Z’SIUN,\{
Mody -
m'D = 342424 1404 0+0
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Coefficient of variation /fa=rur uns

It is describe variability by expressing the
standard deviation as a proportion of mean,
usually a percentage. The formula for it as a

percentage is,

qE Wk faee Rl WIed & 310Td, 3THAR UT Jiavra
& ®U U oA dhich URAdA9ITedr ahl dui ahidl 2|
wfavra & w9 ¥ 3Ha 97 €,

|Coefficient of variation) fa=7ur Turia

~ Standard deviation
Mean

x 100
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61. If the mean i@and the standard deviation
is@)then the coefficient of variation is:

Igfe wrem 25 § 3K 9 faues 5 § o fasmor &
‘IUHEFI%

NTPC 07/01/2021 (Shift-03)

20% (b) 48%
(c) 60% (d) 27%

ean



o0 1AM AT H SEs

62.

or all govt. exz BY ADITYA RANJAN SIR

If the standared deviation of a set of numbers
is(3 And the arithmetic mean of these numbers
is(6, what is the coefficient of variation of

these numbers?

afe WEATell & WYE &1 O faued 3 8 3K &
HEAT3N T RO |IET 6 &, df 39 HE&si ol
faeroT TS T €72

NTPC 08/04/2021 (Shift-01)

(a) 1 (b) 75
()50 (d) 100



